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Bonus: Which operation was used to solve this question?

a)0.23 =23 Multiplication

b) 0.56 = 0.056 Multiplication

c)0.45 =45 Multiplication

- Multiplying and Dividing Decimals by powers of 10 -
Instructions: Read the questions carefully and type the answer below. ®

\ 4

1)2.3 + 100 = 2) 15.6 X 100 = 3) 169.2 x 100 = "
@

®

4) 224+ 1000 = 5) 12.3 X 1000 = 6) 55.69 + 10 = @
@

®

7)123.9 x 1000 = 8) 14.89 x 10 = 9)45.6 + 10 = \ 4
®
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10) 5489.2 + 1000 = 11)42.36 X 10 = 12) 56.39 + 100 = \ 4
»

®
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d) 5.638 = 0.5638 Multiplication

Division
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